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SEFEMOTIRICEET 51 SESHTN
?ﬁg TRZENBHOESLNDKRES TRZEDHEEILADKRES TREDBIDEILADKES TREDHEBRSIENADKRES
&5 X 4 ;'i-é): Tﬂﬁ”ﬁb\(r‘?q)o)ﬂﬁ"ﬁﬁ 73(&3(5’*)‘5 X 4 Th”ﬁé%zg})ﬁ;k? '(.%;'c;f 73(&3(5’*)‘5 B 4 ;.%,‘mf J:ﬂﬁ”ﬁt\(i)d)tt% 71(@3(;?)3 E 4 J:ﬂﬁ”ﬁt\(i)d)tt% '(.%3 71(@3(;?)3
7 100kN/mZz#8z25 | 1.00 | 000 ~ 217| 13368 |3mZEHBZD -~ - - -| 100kN/mMi%E8Z22 | 1.00 | 1096 ~ 2210 133.68 |3mEEZ 3 -~ - - -
zhs 1.00 | 217 ~ 995 100.00 | #hs | 000 ~ 9.95| 254 13.62 zhst 1.00 | 500 ~ 109 | 100.00 | Fhs | 500 ~ 2210| 2.54 13.62
2 100kN/mZ#8A5| 1.00 | 000 ~ 246 13847 |3mEHBZD -~ - - -| 100kN/mMi%EEZ22 | 1.00 | 1060 ~ 2210 13847 |3mEEZ 3 -~
zh st 1.00 | 246 ~ 1024 100.00 | #hs | 000 ~ 1024] 264 14.12 zhst 1.00 | 5.00 ~ 1060 100.00 | #n4 | 5,00 ~ 2210| 2.64 14.12
3 100kN/mZz#8A25| 1.00 | 000 ~ 198 130.65 |3mE#BZib -~ - - -| 100kN/mMi%E8Z22 | 1.00 | 1060 ~ 1780 130.65 |3mEEZ 3 -~
zhs 1.00 | 198 ~ 977 100.00 | #hs | 000 ~ 9.77| 244 13.06 zhst 1.00 | 500 ~ 1060 100.00 | Fhs | 500 ~ 1780 2.44 13.06
4 100kN/mZz#8z25| 1.00 000 ~ 195| 13012 |3mZEHBZD -~ - - -| 100kN/mMi%E8Z22 | 1.00 | 1053 ~ 1780 130.12 |3mEEZ 3 -~
zhs 1.00 195 ~ 974 100.00 | Ths 000 ~ 974|237 12.69 zhst 1.00 | 500 ~ 1053 100.00 | Fhs | 500 ~ 1780 2.87 12.69
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 469 5845 | NS | 000 ~ 469 | 1.83 9.79 zhst 1.00 | .00 ~ 5.00 58.45 | TnS | 5.00 ~ 5.00 | 1.83 9.79
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 526 65.54 | NS | 000 ~ 526 | 1.84 9.82 zhst 1.00 | 6.00 ~ 5.80 65.54 | Ths | 500 ~ 580 | 1.84 9.82
- 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 565 70.58 | #hs | 0oo ~ 565 1.84 9.84 zhst 1.00 | 6.00 ~ 6.40 70.58 | #hs | 5.00 ~ 640 1.84 9.84
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 404 50.65 | Fn4S | 000 ~ 404\ 206 11.04 zhst 1.00 | .00 ~ 5.00 50.65 | TnS | 5.00 ~ 5.00 | 206 11.04
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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